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DA SEHSAD
M SRLAMAREENS
Chel: SIS B2E & S (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Ogdl &4 X999 d=w o4& o, o
Tof Ol PESESRAR JIX| 2ol S
g 67,500
= 45,000
& 22,500
OAMIAISAE B2 M3 HIE2ld 12,600
= 8,400
= 4,200
11 S [2S0 e 4 A A5 A 80,000 0 80,000
Osg HIIEU M| JIxg= & 85D
gt A= 80,000
= 40,000
== 40,000
SEHESMN HIIZA 100,000 100,000
308 AtXIEMSOIE 100,000 100,000
1 SIS0t AS A 100,000 100,000
OFEE3 M FIIXZA 100,000
NS 2= 2&22 52,495,876 51,050,625 1,445,251
= 35,016,025
Jl 1,666,143
S 15,813,708
=m&s2 X2 27,500 27,500 0
= 27,500
308 AHXIEMSOIH 27,500 27,500 0
= 27,500
01 RSN EES 27,500 27,500 0
O=It23H X% =:MaE AS 2] 27,500
= 27,500
SagAE= Edl 171,400 503,300 A331,900
403 AXIEHHSAH=201H 171,400 503,300 A331,900
01 XIS A=E £ 171,400 503,300 A331,900
OESZA4= ZHl 71,400
OS&ZALE FHI(EE) 100,000
CNE=3M et & 2 EXE S| 18,270 13,000 5,270
403 MR HHMSAH=01H 18,270 13,000 5,270
01 AXISHHA 22 % 18,270 13,000 5,270
OEXNE 3 e & =25 FH| 18,270
NS 2 & SESHM 2434 N& 38,793,861 36,416,297 2,377,564
= 31,764,945
= 7,028,916
403 AXIEHHS X201 38,793,861 36,416,297 2,377,564
= 31,764,945
= 7,028,916
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DA SEHSAD
. BRAAMANEENS
&el: NE2HM 2&22 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 AXISHHA =22 & 38,793,861 36,416,297 2,377,564
O=ItXNE=2=H 2+8t| 37,726,611
= 31,063,445
< 6,673,166
O=JHE SE2 2+3b| 1,067,250
= 711,500
= 365,750
St AR S 2el 73,000 63,000 10,000
201 Ler23 | 73,000 63,000 10,000
01 At2t2ltl 73,000 63,000 10,000
O3tz 24 73,000
1% OI0IXI #IIAS 2,005,600 2,618,350 A612,750
= 1,777,000
< 228,600
403 MR HMSAHE01H 2,005,600 2,618,350 N612,750
= 1,777,000
= 228,600
01 AXISHHA=2 2 2,005,600 2,618,350 A612,750
OLX OI0IXI Z#I1 At 2,005,600
= 1,777,000
= 228,600
FOENH D=4 XA 130,000 130,000 0
= 100,000
== 30,000
308 AXIHSOIA 130,000 130,000 0
= 100,000
< 30,000
01 HRHHBSEEXS 130,000 130,000 0
OLEEE 54 FUFH 2SN 130,000
= 100,000
= 30,000
ZoHH SSAY 3,438,486 2,832,430 606,056
= 53,100
Il 1,666,143
T 1,719,243
307 21201 & 3,332,286 2,832,430 499,856
Jl 1,666,143
= 1,666,143
02 2B HAHE L 3,332,286 2,832,430 499,85
O=2 =S At 3,332,286
Jl 1,666,143
s 1,666,143
401 AIEHIX SO 106,200 0 106,200




DA SEHSAD
M SRLAMAREENS
&el: NE2HM 2&22 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 53,100
=S 53,100
01 Al&H| 106,200 0 106,200
O22t 0l==cl Ha=ZAt 106,200
= 53,100
< 53,100
CXE2H 2+34| 4,499,500 4,265,500 234,000
403 AXIEHMSAH=Z0l1d 4,499,500 4,265,500 234,000
01 AXISHHA=2 22X 4,499,500 4,265,500 234,000
OZXNE=23M E+FH 4,265,500
OFXt &9l s A (=) 33,000
O3 SeA B8z EFHI(E2EN) 6,000
O%L} Oly &5 S8 & =X SA 25,000
OBl s EXIHY 100,000
ONYE MHES At 15,000
OS=AME FHIHIAMY 55,000
= Xd € 53 50,000 50,000
308 AtXIEMSOIH 50,000 50,000
01 XN BSELES 50,000 50,000
O3 NE - S5 & 53 50,000
ZoH ot e FH| 123,429 216,363 A92,934
= 108,480
= 14,949
403 AXIEHHSA=201E 123,429 216,363 A92,934
= 108,480
= 14,949
01 AR A =2 £ 123,429 216,363 A92,934
O23HM et &l 123,429
= 108,480
s 14,949
SEE2H XA 135,000 635,000 /500,000
308 AXIHS0IA 135,000 50,000 85,000
01 HAHHBSEEXS 50,000 50,000 0
OOt 2/ 0tE HEY A R7= JIF2A
& 50,000
11 SI[2S0 e YA AS A 85,000 0 85,000
OEXIE23 M EIIXZAL 85,000
CEXE2 M HEASIA 127,330 137,210 29,880
308 AtXIEMSOIH 127,330 137,210 29,880
01 XN BELES 127,330 137,210 29,880
O=NE=23M #9 d&gs5d & F9MML
= 59,500
O=XNEZstM 2= M 67,830




DA SEHSAD
M SRLAMAREENS
=2 NEE2HH 2&2e (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
C NE=2M s 2= 100,000 0 100,000
403 X SHHMSAH=01H 100,000 0 100,000
01 AXISHHA =22 & 100,000 0 100,000
Ok NEZHM 28 2=+ 100,000
HSAE EFBI(AZX2) 1,267,500 1,267,500 0
= 845,000
= 422,500
403 AXIEHMSAH=201H 1,267,500 1,267,500 0
= 845,000
= 422,500
01 AXIEHM A= 2 £ 1,267,500 1,267,500 0
OHSAIEE+=FH| 1,267,500
= 845,000
=S 422,500
HEAZ LTHAIAR RAE(AZXH2) 139,500 72,000 67,500
= 93,000
< 46,500
403 MR HSAHE01H 139,500 72,000 67,500
= 93,000
= 46,500
01 HXIHHA 22X 139,500 72,000 67,500
OB SAHE ALY 2= 139,500
= 93,000
= 46,500
HSME SMAIAE RAE 370,500 370,500 0
= 247,000
< 123,500
308 AXIHMSOIA 370,500 370,500 0
= 247,000
< 123,500
01 HASHHBAEEXS 370,500 370,500 0
OHSAHE SMAIAE FRIE 370,500
= 247,000
= 123,500
ANSESAHE B 925,000 1,360,000 435,000
403 X SHMSAH=01H 925,000 1,360,000 A\435,000
01 AR A =2 £ 925,000 1,360,000 A435,000
OXNLHSAE 2 925,000
ANYEHSAHE 218 2+ 100,000 72,675 27,325
403 MR HHMSAHE01H 100,000 72,675 27,325
01 AXISHHA 22 % 100,000 72,675 27,325
OXNLESAE 218 B+ 100,000




DA SEHSAD
M SRLAMAREENS
ol XY=L EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Ag=stde 95,300 95,300 0
40l SEEAM U2 & 15,300 15,300 0
307 elztol & 15,300 15,300 0
02 2B HAIAE & 15,300 15,300 0
O8aHe= sggAtls dUid 15,300
SO Sari ¥y 82 80,000 80,000 0
201 Zet=3h] 80,000 80,000
01 AtR2t2|HI 80,000 80,000
Okl Satmit 28 € 88 80,000
SR FHHY ¥ =2 8,692,924 9,689,187 A9%6,263
= 4,017,000
) 92,850
= 4,583,074
HSEAL 2o 2EAHY 195,750 227,650 /31,900
= 135,000
= 60,750
308 AHXIHMSO0IA 195,750 227,650 A31,900
= 135,000
= 60,750
01 AXHNBEES 195,750 227,650 /31,900
OHSLAL 22H 2E A 195,750
= 135,000
== 60,750
A F A QISSAL TS B 21,274 19,637 1,637
) 18,850
= 2,424
308 AtXIEMSOIE 21,274 19,637 1,637
Il 18,850
= 2,424
01 XN EES 21,274 19,637 1,637
OXtAR A QI=5SHAL THH S| 21,274
Jl 18,850
=S 2,424
224 2ENASHAEAY) 2,500,000 3,887,000 21,387,000
403 MR HHMSAHE01H 2,500,000 3,887,000 21,387,000
01 AXISHHA 22 % 2,500,000 3,887,000 1,387,000
OFF+3d 433 (BHSES) TEA
& 1,000,000
OFg d== 37 TdAIL 1,500,000
Z3HH Ok ALY 1,508,000 1,326,750 181,250
= 1,040,000
s 468,000
308 AXIHS0IA 1,508,000 1,326,750 181,250
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DA SEHSAD
M SRLAMAREENS
Hel: 23RS FHHY % 28 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 1,040,000
=S 468,000
01 XN B2 LS 1,508,000 1,326,750 181,250
OZ3H Okl At 1,508,000
= 1,040,000
< 468,000
HUZSHH A 1,068,650 1,028,920 39,730
= 737,000
= 331,650
308 AFXIEHMSOIE 1,068,650 1,028,920 39,730
= 737,000
= 331,650
01 AXEH B2 LS 1,068,650 1,028,920 30,730
QMU= At 1,068,650
= 737,000
s 331,650
S ME Z3 M 2EAY 1,918,350 1,647,200 271,150
= 1,323,000
& 595,350
308 AtAIEHMSOIE 1,918,350 1,647,200 271,150
= 1,323,000
= 595,350
01 AXHH B EES 1,918,350 1,647,200 271,150
OZWAE 23 28 1,918,350
= 1,323,000
= 595,350
NS E22t=at WF A 111,000 147,000 236,000
Jl 74,000
[ 37,000
308 AXIHS0IA 111,000 147,000 /36,000
Jl 74,000
= 37,000
01 X SHHBAEXS 111,000 147,000 236,000
OXNHEs RS 111,000
Il 74,000
= 37,000
DS 2EAMY 954,100 1,019,350 N\65,250
= 658,000
== 296,100
308 AXIHSOIA 954,100 1,019,350 AN65,250
= 658,000
[ 296,100
01 HAHHBSEEXS 954,100 1,019,350 65,250
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DA SEHSAD
M SRLAMAREENS
Hel: 23RS FHHY % 28 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
oLnusExd 28 954,100
= 658,000
== 296,100
=AM 2H ete=FaH 24 236,000 236,000
306 £ 236,000 236,000
01 2d= 236,000 236,000
O=2aM 23 +=Fdd 29 236,000
ICT &2Z22E = g X& At 179,800 0 179,800
= 124,000
= 55,800
308 XXM SOIA 179,800 0 179,800
= 124,000
== 55,800
01 XN BSELS 179,800 0 179,800
OICTAZZE = HE At 179,800
= 124,000
< 55,800
EHH 2 A 2,693,112 2,515,836 177,276
= 28,000
Jl 1,916,904
< 748,208
EoHH & BHIE X & 28 1,078,650 957,567 121,083
Jl 719,100
= 359,550
308 AtXIEMSOIE 1,078,650 957,567 121,083
Jl 719,100
= 369,550
01 AX N B2 LS 1,078,650 957,567 121,083
OS=E2eH &8I X 1,078,650
Jl 719,100
=S 369,550
ZoHH MHHHXAE 2= 862,987 681,044 181,943
) 699,754
< 163,233
403 MR EHSAHE01H 862,987 681,044 181,943
Il 699,754
= 163,233
01 AXISHA=2E2 X 862,987 681,044 181,943
O=IHNE 23 HHLXAIE X1 L K
al 845,737
7l 688,254
= 157,483




FA: 2ateatt
. BRALAMANEENS
Cel: 23HH S A (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O3 MIANE & SE23M ML X
A& &X 17,250
Jl 11,500
< 5,750
SXNE2H HMAIE 2= 112,700 122,400 9,700
403 AXIEHMSAH=201H 112,700 122,400 29,700
01 AXISHA=2E2 X 112,700 122,400 29,700
OEXNE=Z3 M MHAIE 2= 112,700
ZHH SMAIE sX2el X 366,775 370,175 23,400
Jl 302,050
s 64,725
308 XXM SOIA 366,775 370,175 23,400
Jl 302,050
< 64,725
01 XN B2 LS 366,775 370,175 A3,400
OZ=x23 gatae] 29X ¢ &
MHAIE sXl2cel 366,775
Il 302,050
= 64,725
E3HM 10T AIAE = 238,000 289,850 /51,850
Jl 196,000
=S 42,000
403 X SHHMSAH=01H 238,000 289,850 /51,850
Jl 196,000
== 42,000
01 AXISHHA 22 % 238,000 289,850 /51,850
OZSHM S loT AL F15 238,000
) 196,000
& 42,000
23 SHEE AIAH 2 - 2l 34,000 0 34,000
= 28,000
= 6,000
403 TR MSAH=01H 34,000 0 34,000
= 28,000
=S 6,000
01 AXISHHA =2 £ 34,000 0 34,000
O23 M LHEE ALY 2 - 22 34,000
= 28,000
[ 6,000
NAIFA S & 2l 39,226,630 37,209,419 2,017,211
= 31,408,977
= 7,817,653
et=ol HE MARMSH=L 41,250 28,000 13,250




SN 23R4T
HM: RIRMOANHEEEAS
SRl MAISA S R 2l (SH9 H2)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
308 AHXIHM SO & 41,250 28,000 13,250
01 IXSHHBLERS 41,250 28,000 13,250
Ogt=29 2 NAHIFA 2eld 29 41,250
HAIR A BESE ARXJA(EA) 30,000 0 30,000
308 AXISHMSOIA 30,000 0 30,000
11 3I| 2S00 HeHE & 2E ALY 30,000 30,000
OEHalel 23HE JtXI2t 20| Eatg {8t &
= 30,000
S22 M3 MAHIRA EE2E] 60,000 60,000 0
308 AEXIHMSOIH 60,000 60,000
01 IXSHHBLERS 60,000 60,000
O8r=29 A& HAHsA BEZ2e] 60,000
HIAISA BE22 (AZAHE) 2,369,590 32,640,485 A30,270,895
= 1,951,427
= 418,163
403 XX SHMSAH=01 A 2,369,590 32,640,485 230,270,895
= 1,951,427
& 418,163
01 AXISHHA2E X 2,369,590 32,640,485 A30,270,8%
OMIAI R BE22| Al 2,369,590
= 1,951,427
& 418,163
MHR A BE=22| (AZE A 2,600,000 3,880,934 A1,280,934
= 2,000,000
& 600,000
308 AXISHMSOIN 2,600,000 3,880,934 A1,280,934
= 2,000,000
= 600,000
01 AIXISHNHBAEES 2,600,000 3,880,934 A1,280,934
OYUHAMNKEX T AHRL 22 =
A= A 2,600,000
2 2,000,000
& 600,000
HHISE MR Setael & 22 400,000 400,000
306 =2 400,000 400,000
01 2932 400,000 400,000
OYHSE AHRA S & S8 400,000
Y23 BEERH 3,700 200,000 A196,300
= 3,700
403 KX HHMS K201 A 3,700 200,000 196,300
= 3,700
01 XEXISHHI A= 2 & 3,700 200,000 A196,300
OEZ2 M BEERE 2elAY 3,700




SN 23R4T
M SRLAMAREENS
SRl AAIRA SR 2l (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| 2 3,700
HIAIsA S2(8t=2l 2HE) 109,980 109,980
= 84,600
= 25,380
308 XtXIEMSO0IH 109,980 109,980
= 84,600
=S 25,380
01 XN BSELES 109,980 109,980
OHMIAIsA S2(Bt=22HE) 109,980
= 84,600
< 25,380
M EE2te|(8h=2] M) 637,500 637,500
= 525,000
= 112,500
403 AXIEHHSAH=201H 637,500 637,500
= 525,000
= 112,500
01 AXISHHA=2EE 637,500 637,500
OMIAIS& BE2el(8t=2l2Y) 637,500
= 525,000
s 112,500
MH=H MAFL EE2CIAY 30,258,785 30,258,785
= 24,919,000
& 5,339,785
403 AXIEHMSAH=Z01d 30,258,785 30,258,785
= 24,919,000
= 5,339,785
01 XISHH A =22 E 30,258,785 30,258,785
OHHMRE MAFL &2 A 30,258,785
= 24,919,000
= 5,339,785
NAIR L E2 A 494,000 494,000
= 380,000
[ 114,000
308 AXIHS0IA 494,000 494,000
= 380,000
= 114,000
01 HASHHBSEXS 494,000 494,000
OAMIAI=L S 2 AL 494,000
= 380,000
= 114,000
NIz A EZ A 689,325 689,325
= 530,250




SN 22D
Hu: SR ANBERS

SRl MAISA S R 2l

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 189,075
308 AtXIEHMSOIE 689,325 0 689,325
= 530,250
= 159,075
01 XN B EES 689,325 0 689,325
OAMIAI= & 22 At 689,325
= 530,250
= 159,075
HASMEH(AZZH) (BIEEXE) 300,000 0 300,000
308 AHXIEMSOIH 300,000 300,000
01 HXEHH B EES 300,000 300,000
02023 MIAIF& SEAL 300,000
=M REAS g2 03t 1,232,500 0 1,232,500
= 1,015,000
= 217,500
403 AXIEHMSAH=201H 1,232,500 0 1,232,500
= 1,015,000
= 217,500
01 AXISHHA2EE 1,232,500 0 1,232,500
O =st REXNS 82 135t 1,232,500
= 1,015,000
=S 217,500
ARIEHRIFEAIE 115,090 115,090 0
ARIEH 54 & A& 115,090 115,090 0
307 el2to| & 115,090 115,090 0
02 2IZHBYAIHE A 115,090 115,090 0
(OZ\-IPNE=IN TS, 15,640
Ollci=d HANSEL HAelSHEs 15,300
OBt=25H AlE A 84,150
=t OHe 23,144,000 17,471,800 5,672,200
= 150,000
= 13,295,000
== 9,699,000
FHOIZ)RLEaH SEMNY 3,450,000 2,213,550 1,236,450
= 150,000
< 3,300,000
eheRuU2MER 29 3,450,000 2,160,000 1,290,000
= 150,000
= 3,300,000
306 E¢= 3,150,000 2,160,000 990,000
01 £g= 3,150,000 2,160,000 990,000
Ott=RuIsSH 29 (2124]) 1,877,000
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FA: 2ateatt
mr: 2 g
el ERSUSSA BARBIWLAL (Srol: 22)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 146,400
01 MXIHHA 22 878,400 720,000 158,400
Odot gEldE &30td 878,400
[ 732,000
= 146,400
SHLY HUS(SF) 2,587,200 0 2,587,200
= 2,156,000
=S 431,200
403 AXIEHMSAH=0lH 2,587,200 0 2,587,200
= 2,156,000
< 431,200
01 XA 22 % 2,587,200 0 2,587,200
O== SFHZ ddli= 2,587,200
[ 2,156,000
= 431,200
EZHIZ ME2H(EH) 600,000 1,200,000 A\600,000
[ 500,000
= 100,000
403 TR SHMSAH=01H 600,000 1,200,000 600,000
s 500,000
s 100,000
01 A= 2L 600,000 1,200,000 600,000
O=d EdHIZ Mg 600,000
= 500,000
[ 100,000
Bots AFRA (A L) 600,000 0 600,000
[ 500,000
= 100,000
403 AXIEHHSAH=201H 600,000 0 600,000
= 500,000
= 100,000
01 AXISHHA=2E XL 600,000 0 600,000
OA &t Hol=s a3 600,000
= 500,000
== 100,000
Ustel E2EZ N0 (=4 1,560,000 1,080,000 480,000
[ 1,300,000
= 260,000
403 AXIEHHSAH=201H 1,560,000 1,080,000 480,000
[ 1,300,000
= 260,000
01 AXISHHA2EE 1,560,000 1,080,000 480,000
Ozt s+l ¥z Xore 1,560,000




FA: 2ateatt
mr: 2 g
el ERSUSSA BARBIWLAL (Srol: 22)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 1,300,000
=S 260,000
Holset AALsel(EE) 1,200,000 0 1,200,000
= 1,000,000
< 200,000
403 MR HSAHE01H 1,200,000 0 1,200,000
[ 1,000,000
= 200,000
01 HXIHHA =22 xR 1,200,000 0 1,200,000
Ogal K2lss AA=C 1,200,000
[ 1,000,000
= 200,000
S AR (MH) 2,092,800 1,200,000 892,800
= 1,744,000
== 348,800
403 AXIEHMSAH=0ld 2,092,800 1,200,000 892,800
= 1,744,000
< 348,800
01 AXIHHA=2 2L 2,092,800 1,200,000 892,800
OANE SSAISA 2,092,800
[ 1,744,000
= 348,800
SHISS 23t2H(FE ) 1,200,000 600,000 600,000
= 1,000,000
=S 200,000
403 X SHHMSAH=01H 1,200,000 600,000 600,000
= 1,000,000
< 200,000
01 AXIEHHA 22 % 1,200,000 600,000 600,000
OFY HHIE2 2ot 1,200,000
[ 1,000,000
= 200,000
EFHE 22 (24) 1,635,600 480,000 1,155,600
[ 1,363,000
= 272,600
403 X SHMSAH=01H 1,635,600 480,000 1,155,600
s 1,363,000
s 272,600
01 AXISHHA =2 & 1,635,600 480,000 1,155,600
O&d s34 2Bit= 1,635,600
= 1,363,000
[ 272,600
FAMO E2IDFS (0l &) 1,800,000 1,560,000 240,000




FA: 2ateatt
mr: 2 g
el ERSUSSA BARBIWLAL (Srol: 22)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 1,500,000
=S 300,000
403 X SHHMSAH=01H 1,800,000 1,560,000 240,000
= 1,500,000
== 300,000
01 AXISHHA 22 % 1,800,000 1,560,000 240,000
OUllat =AM E2lDt=S 1,800,000
= 1,500,000
& 300,000
AAIE S| HiCtaallZ (B ) 600,000 1,800,000 A1,200,000
[ 500,000
= 100,000
403 THXISHMSAH=01H 600,000 1,800,000 A1,200,000
= 500,000
=S 100,000
01 AXISHHA =2 & 600,000 1,800,000 21,200,000
OEHer ARMIES itz 600,000
= 500,000
[ 100,000
22 £33 812 (20) 1,200,000 0 1,200,000
[ 1,000,000
= 200,000
403 AXIEHHSAH=201d 1,200,000 0 1,200,000
[ 1,000,000
= 200,000
01 AR A =2 £ 1,200,000 0 1,200,000
OF0 & 78 d7& 1,200,000
s 1,000,000
== 200,000
N =2et2 43t 3,964,000 992,000 2,972,000
= 2,019,000
= 1,945,000
ANE2st ds 3,964,000 992,000 2,972,000
= 2,019,000
s 1,945,000
SHSSsUEE JIEAML 17,000 17,000 0
308 AHXIEMSOIH 17,000 17,000
01 XN BSELES 17,000 17,000
Osdss=ssd JIgAY 17,000
SHSSSUHTA H2AEY 110,000 110,000 0
306 EX= 110,000 110,000
01 2d= 110,000 110,000
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SN Baga
H: N 2525
=Rl NE2st s (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| O34 s8=0 sgh oA 110,000
EDSSAIL A (DIRA) 1,290,000 160,000 1,140,000
= 860,000
= 430,000
403 MXISHHMSA=01H 1,290,000 150,000 1,140,000
= 860,000
= 430,000
01 REXIEHMIAt 2 2 2 1,290,000 150,000 1,140,000
O2% O12A +2HED 2 1,290,000
2 860,000
&= 430,000
SWESAIE A (=AY 225,000 0 225,000
= 150,000
= 75,000
403 XHXI SHAI S K201 225,000 0 225,000
= 150,000
== 75,000
01 RIXISHMIA 22 2 225,000 0 225,000
O%CAl SB2SIHE A 225,000
= 180,000
T 75,000
o0l =HEX CXE SAME2 o 1,440,000 0 1,440,000
= 900,000
= 540,000
403 MXISHHS 201N 1,440,000 0 1,440,000
= 900,000
= 540,000
01 MHXIHH A =222 1,440,000 0 1,440,000
OsDl FHAX CINY AAHEB X4 1,440,000
= 900,000
= 540,000
LUAAF g2 cI2EY 108,000 0 108,000
403 NAIEHMSKE01H 108,000 108,000
01 REXIEHMIAt 2 2 2 108,000 108,000
OAnelR g2 e 108,000
NS =2eAte AE 165,000 205,000 £A40,000
308 ARISHMSOIE 165,000 165,000 0
01 MASHBLEERS 165,000 165,000 0
ORi53| =solsy SS9 30,000
OHYZ HEHW IISELALY 30,000
OB=x S8t srUstaERsl, ZQ0SH, o
e £X 30,000
O2023 FOHAIRIT BHBHE HSE2E=H 30,000
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SA: 2B
33 NE=2sgdst
=Rl NE2st s (SH9 H2)
S - EE - BRI(EH) - AIRAY - BAS of v e HIDE2
OHNI2zl B3 uES243] 30,000
Os4=xNdgs 85 ASEHA 15,000
S22t A 109,000 0 109,000
= 109,000
308 AXIHHS0IA 109,000 0 109,000
= 109,000
01 AXEH B EES 109,000 0 109,000
OBu2z0d MR=dZ2 1 109,000
= 109,000
Q0= HEAl B8 t2+2 =4 500,000 500,000
403 AXIEHHSAH=201H 500,000 500,000
01 XA =2 E 500,000 500,000
YA RMET BB 242 X4
Ared 500,000
BHKI SAMEIOHE &4 2,672,190 2,363,200 308,990
M2t 29 2,380,340 2,087,500 292,840
ANEE =Al2 1,423,500 1,437,500 214,000
201 fer= 3| 55,500 75,500 220,000
01 AtR2tc|HI 25,500 25,500 0
OR NSt 2et+=Sh| 25,500
2 35244l 30,000 50,000 220,000
OAEEHISXIEl S 30,000
301 EtE NS 18,000 12,000 6,000
14 IIEt2 83 18,000 12,000 6,000
OSAt &4 234l 18,000
307 el2to| & 1,350,000 1,350,000
05 2I2+RIE =S 1,350,000 1,350,000
OuRte(g 2e|2gH| 1,350,000
ANEZ 23 At 956,840 650,000 306,840
401 AIEHIZ SR HYI 956,840 650,000 306,840
01 Al&HI 950,000 650,000 300,000
OANE=E E=E22AY 950,000
03 Al 20HHI 6,840 0 6,840
OAlE=E 222 U 6,840
HHISALZS 2 28 291,850 275,700 16,150
et FAl2c 261,850 235,200 26,650
201 fer23y| 90,000 69,550 20,450
01 AtR2t2|HI 40,000 19,550 20,450
Ozt Let+==H| 30,000
ogxz(s=2s S) 10,000
2 S5=2g4l 50,000 50,000 0
OAIZEHISAIHl S 50,000
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